3. RJ MILDRAFE

1. R FILDOARTE

—_ al —_ bl
(1) ) e
a; b,
ax0, 650D %, L bDETALE 0 (°<H<180°) £T2&
Z-_l;=|2||_l;|cosﬁ=a1b1+a2b2
a b _ ab,+azb,
|_)||b| \/012+022\/b12+b22
=0 £-13 b=00r X3, aLbOHBEE ¢-b=0 LEDS,

cosf =

2. N MILOEE - FITERNE

ax0, bx02¥3,

EE%#F ZJ_Z < Z Z O < a1b1+a2b2=0
a-b=

TTEM afp < +lz|lp] < o=0, 180°
< albg—a2b1=0

3. NIEDME

1] a-a=|al”

2] a-b=b-a

3] (@a+5)-c=a-c+b-¢

4] a-(b+c)=a-b+a-c

5] (ka)-b=a-(kb)=ka-5) 772U, kiZEHR
25 (11&Y  a-a20, [a|=va-a

4. =AEOEE
b

2

A_é:};:< ) Ké:5:<ql> r¥$5¢, AABCOEH S I
q

s=LVBTTal=G-a =Lipampal




Bz

1. 1 IORIN2THDHE=ZAFK ABCDiI BCOHF R %
M&ddeE, ROABERD L,

(1) AM-BC @ AC-CB

-

2.a=(3, 2, b=(—5 1) DHHEE, Z0O%TH 0 #KD L,

3. a=(1, —2) LORTANLL T, kXINJI0 ORZ ML ERD &,



4.a=(k 3), b=(3, 2 T3, 2a+b ¥ a—20WRDEDITRB L%, B EDEEK
H .
(1) EE (2) AT

5. %X 12[¢ "+ 4[5 1°=|3a+05 |*+3[6—2|* #2FmEE &.

6. zl=2 [0|=v3, |a—b|l=1Tharx, XOMMIEL L,
1) a2 bDkTHoZRDE, @) |2¢—35 | DfEE kD &,



7. lal=lb]=2 la+b|=2mr%, a4+b L at+tb NEEIZRZED1T, EftDEERE

&,

8. THLEIZ450, A, B, ChHHs., OA+0B+0C=0, OA=2, OB=1, OC=+/2
D& X, ROFNIEZ &,

(1) W OA-OB kL, 2 AOABDEEZE KD L.



